5000m

JIEAT FLdRk K4 BilE A HEW ik Gt A
1 14. 44. 04 Wil =2 WILRF 2 B SN TS A 12/2
2 14. 49. 59 ek ik RAbfEaERTE 40 EIR HAR KRGS LA 12/2
3 14.51.73 W PR HiERE 3 wmER Bl N1 FLIR 6/3
4 14.53. 27 SLE O AEK ALK 2 FRAE HARKGLERS LA 12/2
5 14.55. 21 Rl RAetEak RS ML LB HARKGLoRE oy 12/2
6 14. 55. 72 g Fnidk  RAEFERERE 2 EIRIE ERLNNFTRE S == HIRK 12/2
7 14. 56. 37 e A HIERS M2 wmER i mieRs & 6/18
8 14.57.77 SEfE v FAERZE 3 mRER ALK FLISE 6/3
9 14. 58. 69 P kAl Ry 2 R ERYNRE = HAIRK 12/2
10 14. 59. 04 AHE O Rk RAemEakREE 2 LR ERY Nk e &R 12/2
11 15.00. 71 g owE HAEEPERTE 3 EHRIE ERY YNGRk e HARK 12/2
12 15. 02. 87 rKE 3} mERE 4 wmBR (EPNES = 9/22
13 15. 05. 01 G e RT3 [WER HiLI C FIF 5/15
14 15. 07. 96 N 70 S | o - o= S S 9 ALK A FKH 10/22
15 15. 14. 58 /NEFORER it R%E 4 By [EE 7% == FIRF 4/23
16 15. 23. 55 i "HERE 1 m5FR HAbkK FK H 10/22
17 15. 25. 52 FEEZN Ak RZ®E 6 doiEE 26 K5 fiEaS 9/17
18 15. 25. 88 o & FK H R 1 APER KHBRERBED—=1 FKH 11/3
19 15. 28. 20 R ER Wik k¥ D2 EEE (=Nt S il 6/18
20 15. 29. 08 ARHE HEE ALK ML EEE HARKGLERS EhH 6/4



